Level 1 Maths Multiply and Divide by 10, 100 and 1000
Exam Questions

Non-calculator Questions
NCFE

1.

The average cost of petrol last year was £1.29 per litre.

How much did it cost Dennis last year for 100 litres of petrol?
[2 marks]

Your answer: £

5 kilograms (kg) of sugar costs £3.20 and contains 1000 teaspoons of sugar.

How much, in pence, does 1 teaspoon of sugar cost?
[2 marks]

Your answer: pence
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City & Guilds
3.
846.7 + 100 =
(1 mark)
4,
4.7 x 1000 =
(1 mark)
Open Awards
5.
Calculate 46.8 = 100 (1 mark)

Show your calculations and/or workings out here:

Write your answer in this box.
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AQA

Work out 1.2 x100
Circle your answer.

[1 mark]
1.200 100.2 120 1200
7.
Work out 718.6 - 100
[1 mark]
Answer
Calculator Questions
Highfield
1.
Work out 783.48 = 100.
Write your answer correct to 3 decimal places in the box below. (1 mark)

Answer:
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2.

Work out 22 + 1000

3.

Write your answer correct to 3 decimal places in the box below. (1 mark)
Answer:

Calculate 700.5 + 100

Write the answer in the box below. (1 mark)

Answer:




